| 76021 |

ASSEMBLY INSTRUCTION

7-30 kg
30-120 kg

i
L
!
|
|
!
L
!
|
|
{
|
|
!
|
I

FUNKI | EGEBJERG

TUBE-O-MAT® LTD
CLASSIC JUMBO

ACO FUNKI A/S
Kirkevaenget 5
DK-7400 Herning

Tel. +45 9711 9600

www.acofunki.com
www.egebjerg.com Danish Design | German Quality | Global Experience




33908001 " i 33908001

76021 EIE
2/12 [A)(@

ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com |FUNKI]




TUBE-O-MAT® LTD
CLASSIC JUMBO

72374
67104
38306012
| M6x10
| \
72209 33596010

M6

72134

76021 EIE
3/12 [A)[®

ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com [FUNKI]|




30308016
M8x16

33908001
M8

72126

30308016
M8x16

33908001
M8

70745

76021 EIE
4712 [A)(®

ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com |[FUNKI|




TUBE-O-MAT® LTD
CLASSIC JUMBO

30308016
M8x22

35600037

33908001

o
o =T
30308025 |
M8x22 33908001
MS
30308025
33908001 M8x22
MS

76021 EIE
5/12 [A}(@

ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com [FUNKI]|




72395

:‘3 /— 72332

30308016
M8x16

135600037 |

x
33908001 |
M8

76021
6/12

ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com [FUNKI|




TUBE-O-MAT® LTD
CLASSIC JUMBO

35600093

34904016

76021 EIE
7/12 [A)(®

ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com |[FUNKI]|




33596010
M6

33596010
M6

T
8/12 [A)[®

ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com [FUNKI|




TUBE-O-MAT® LTD
CLASSIC JUMBO

(1215 mm|

76021 glg
9/12 [A(@

ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com [FUNKI]|



7-30 kg *30-120 kg

1200 *(+20-30)

1260 *(+20-30)

815 *(+20-30)

0170-202

*(+20-30) 1050 "
1110

A4

76021 EIE
10/12 [A\[®

|[FUNKI|

ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com



TUBE-O-MAT® LTD

TUBE-O-MAT® LTD CLASSIC JUMBO,/ WEAN-TO-FINISH oR FINISHERS CLASSIC JUMBO

2 pes. Art no. 894584>’

1 pcs. Art no. 89464

1 pcs. Art no. 0170-202 2 pcs. Artno. 70725——————> | 1

1pcs.Artno. 70666 > /

2pcs.Artno. 73321 ——————>

2 pcs. Artno. 73326————————— >

2 pcs. Artno. 72209 ————— > . -

2 pcs. Art no. 70284———>

1 set. Art no. 76085 1 set. Art no. 76096
— 4 pcs. Art no. 61015 2 pcs. 3/8” M6 Art no. 69681 Q,,,},

4 pcs. M6 Art no. 33596010 I

—3 pcs. Art no. 61140 ——>» .
|— 1 pes. Art no. 61310 ——» *
—1 pcs. Artno. 72362 ———— >

— 2 set. Art no. 76095 Art no. 67162

Art no. 34904016 .
L=

Art no. 35600032

—— 1 set. Art no. 76096

1 set. Art no. 76461 1 set. Art no. 76491
L2 pes. Art no. 93245 > m —10 pcs. M8x22 Art no. 30308025 'ﬂ
—8 pcs. M8x16 Art no. 30308016 ~f
— 2 pes. Art no. 72061HG4>M
§ —26 pcs. M8 Art no. 33908001 '
2 Pes. Artno. 72332 ——> g —8pcs. M8x20  Artno.67331 o
—2pcs. Artno. 72316 ——————————> {ffffp —4 pcs. 8mm Art no. 35600037 =
L1 set. Art no. 76481 —4 pcs. 3/8” M6 Art no. 69681 rl
—38 pcs. M6 Art no. 3359610 e
1 set. Art no. 76275
1 pcs. Art no. 70745 > | / 1 set. Art no. 76290
2 pcs. M8x20  Art no. 36308020 =)
[ 1 pos- Artno. 72126 ——> {il —4pcs.M8X16  Artno.30308016  e=g
— 1 pecs. Artno. 72134 > ] —6 pcs. M8 Art no. 33908001 o
—1 pcs. Art no. 72371 ——>» r-l"l; —3 pcs. M8 Art no. 38306012 )
L1 pes. Art no. 72374 ki > | ; 3 pcs. M6 Art no. 33596010 r
B 3pcs. M5x25  Art no. 67104 e==()
[ 1 pos. Artno. 72395 *" | 4pcs.8mm  Artno.35600037 &

——1 set. Art no. 76290

76021 EIE
11712 [A)(@8

ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com |[FUNKI]|



Note

A
12/12 [A)[ @

ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com [FUNKI]




